COLLEGE ALGEERA EXAM 1 JGR R? NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. GRAPHING CALCULATORS ARE REQUIRED ON THIS
TEST. EXPLAIN ALL CALCULATOR METHODS AND SHOW GRAPHS IF USED. '

In 1 - 3, factor completely and simplify if possible:
1. x°y - 6dxy” 2. x° - 8x% - 4x + 32 3. x2 +8x1

In 4 - 7, use your calculator to find the wvalue in scientific notation
or rounded to the nearest hundredth. :

4 a) (3/6 - 5,3 5 a) y 6 a) 10,000,000
1
by 1345 b) (1 + i)? b) /10,000,000
6 -5
2 12
) a 12000 ., 40X10
5 0.035 8.5 X 102
In 8 - 9, simplify:
_ ‘ A4 1
8. x _x-4 9. LA A
x - 2 x2 - 4 x—1+y—1



10. Use the definitions or the calculator to.- find thevvalues
(give fractional form):

o

a) - 83 A b) 32

In 11 - 13, simplify the radical expressions completely:

3 .

11. 72x"5y? 12.  72x ™y 13. (3/6 - 5/3)?

In 14 - 18, solve for X, use complex numbers if necessary.
Give exact radical form for irrational answers.

14. x(x - 30) = 64 15. 2x(x - 2) =5
16. x>+ 8x + 52 =0 17. x+5  28x _ 40
X x+5



In 19 - 20, sketch the graphs (standard zoom) of
19. y=x%?-4x-5 20. y=|3x-~-2]
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